
A N T E N N A SP A N O R A M A

  4
9 

M
IN

. F
U

LL
 T

H
R

EA
D

 L
EN

G
TH

  

  3
  

  1
2 

 

  4
  

  6
  

  8
  

  1
0 

 

  120°  

  120°  

  120°  

  
6.05.2   

  30°  

  =12=  
  =19=  

  =26=  

  =33=  

  =70=  

  8
0 

 

NOTES:

ALL THREADS TO BE FREE FROM 1.
RESTRICTIONS ALONG ENITRE 
LENGTHS.

COMPONENTS TO BE SUPPLIED CLEAN 2.
AND FREE FROM OIL AND GREASE.

ALL MATERIALS SUPPLIED MUST BE 3.
RoHS COMPLIANT AND MUST NOT 
CONTAIN ANY SUBSTANCES OF VERY 
HIGH CONCERN (SVHCs) LISTED UNDER 
REACH OR POLY-AROMATIC 
HYDROCARBONS (PAHs), OR 
PERSISTENT ORGANIC POLLUTANTS 
(POPs) CONTROLLED BY  THE 
STOCKHOLM CONVENTION.

ALL MATERIALS SUPPLIED MUST BE 4.
RoHS2 (DIRECTIVE 2011/65/EU) 
COMPLIANT AND MUST NOT CONTAIN 
ANY SUBSTANCES OF VERY HIGH 
CONCERN (SVHCs) LISTED UNDER 
REACH OR POLY-AROMATIC 
HYDROCARBONS (PAHs), OR 
PERSISTENT ORGANIC POLLUTANTS 
(POPs) CONTROLLED BY THE 
STOCKHOLM CONVENTION.

M6 'V' BOLT
STAINLESS STEEL

  82  

  3
0 

 

MOUNTING BRACKET
STAINLESS STEEL

  R4  

  26  

M6 FLAT WASHER - 18mm O/D
STAINLESS STEEL 

IN 2 POSITIONS

M6 SPRING WASHER
STAINLESS STEEL

IN 2 POSITIONS

M6 FULL NUT
STAINLESS STEEL

IN 2 POSITIONS

ISO VIEW
SCALE 1:2

IMPORTANT NOTE: ALL COMPONENTS TO BE A2 OR 304 
STAINLESS STEEL. ALTERNATIVES ARE NOT PERMITTED6

6

6
6

6

6 6

6

6

A

1

DRG.
No.2018  A4DENOTES LATEST

ISSUE CHANGES C3RD ANGLE
PROJECTION

DO NOT
SCALE

THIS DOCUMENT MUST NOT BE COPIED OR DISCLOSED TO A THIRD PARTY
WITHOUT THE WRITTEN CONSENT OF PANORAMA ANTENNAS LTD.

DENOTES CRITICAL
 VALUE

2 3 4 5 6

B

C

D

SAB-165
TOLERANCES UNLESS OTHERWISE STATED

1 DEC. PLACE

0 DEC. PLACE 2 DEC. PLACES

ANGULAR±0.2

±0.5 ±0.1

±1°

3D ASSEMBLY UPDATED. NOTE 
UPDATED.01019 PE02/04/20145

PE01019 13/08/2018CRITICAL NOTES/DIMENSIONS 
AND WASHER UPDATED.6

DATE DRN.DESCRIPTIONREV.PCN

SEE DRAWING

WM11 ANTENNA MOUNTING BRACKET 
ASSEMBLY- STAINLESS STEEL

APPROVED
KD

 PRODUCT/ASSEMBLY

 WEIGHT 103.25g SHEET 1 OF 1

SUB ASSEMBLIES

SEE NOTES
MM 1:1 DIMENSIONS

IN mm FINISH

 MATERIAL

 DESCRIPTION

 D.O.CHECK  SCALE


	Sheet1
	Drawing View4
	Drawing View5
	Drawing View6
	Drawing View7


